
Hope Industrial Systems, Inc.
Toll Free: (877) 762-9790 · International: +1 (678) 762-9790
UK: +44 (0) 20 7193-2618 · E-mail: support@HopeIndustrial.com

© 2024

M
ec

ha
ni

ca
l D

ra
w

in
g 

– 
Yo

ke
 M

ou
nt

 w
ith

 B
en

ch
to

p 
M

ou
nt

in
g 

Ki
t

Revision:

Part Number: YB and YK series

Page 1 of 5

Date: 2022.08.26 NOTES: 1) 2" screw nuts and washers are provided as alternate for mounting.
2) Yoke will rotate +/- 320º from front center.

41.3 mm
(1.63")48.3 mm (1.90")

OUTSIDE DIAMETER

40.9 mm (1.61")
INSIDE DIAMETER

82.6 mm
(3.25")

442.0 mm
(17.4")

RUBBER WASHERS

3" DIAMETER
WASHER

YOKE LOCKING NUT

FRICTION PLATE

GROOVE INDICATING
FRONT CENTER

(See Note 2)

1/4-20 SCREWS
(See Note 1)

BENCH MOUNTING
PLATE (3/16" THICK)

KNOB

NYLON BUSHING

YOKE

YOKE

292.1 mm
(11.5")

THIS SIDE
FORWARD

15/17" MODEL

Side View Front View

Mounting Plate



Hope Industrial Systems, Inc.
Toll Free: (877) 762-9790 · International: +1 (678) 762-9790
UK: +44 (0) 20 7193-2618 · E-mail: support@HopeIndustrial.com

© 2024

M
ec

ha
ni

ca
l D

ra
w

in
g 

– 
Yo

ke
 M

ou
nt

 w
ith

 B
en

ch
to

p 
M

ou
nt

in
g 

Ki
t

Revision:

Part Number: YB and YK series

Page 2 of 5

Date: 2022.08.26 NOTES: 1) 2" screw nuts and washers are provided as alternate for mounting.
2) Yoke will rotate +/- 320º from front center.

41.3 mm
(1.63")48.3 mm (1.90")

OUTSIDE DIAMETER

40.9 mm (1.61")
INSIDE DIAMETER

82.6 mm
(3.25")

492.8 mm
(19.4")

RUBBER WASHERS

3" DIAMETER
WASHER

YOKE LOCKING NUT

FRICTION PLATE

GROOVE INDICATING
FRONT CENTER

(See Note 2)

1/4-20 SCREWS
(See Note 1)

BENCH MOUNTING
PLATE (3/16" THICK)

KNOB

NYLON BUSHING

YOKE322.6 mm
(12.7")

YOKE

THIS SIDE
FORWARD

19" MODEL

Side View Front View

Mounting Plate



Hope Industrial Systems, Inc.
Toll Free: (877) 762-9790 · International: +1 (678) 762-9790
UK: +44 (0) 20 7193-2618 · E-mail: support@HopeIndustrial.com

© 2024

M
ec

ha
ni

ca
l D

ra
w

in
g 

– 
Yo

ke
 M

ou
nt

 w
ith

 B
en

ch
to

p 
M

ou
nt

in
g 

Ki
t

Revision:

Part Number: YB and YK series

Page 3 of 5

Date: 2022.08.26 NOTES: 1) 2" screw nuts and washers are provided as alternate for mounting.
2) Yoke will rotate +/- 320º from front center.

41.3 mm
(1.63")48.3 mm (1.90")

OUTSIDE DIAMETER

40.9 mm (1.61")
INSIDE DIAMETER

82.6 mm
(3.25")

562 mm
(22.13")

RUBBER WASHERS

3" DIAMETER
WASHER

YOKE LOCKING NUT

FRICTION PLATE

GROOVE INDICATING
FRONT CENTER

(See Note 2)

1/4-20 SCREWS
(See Note 1)

BENCH MOUNTING
PLATE (3/16" THICK)

KNOB

NYLON BUSHING

YOKE279.4 mm
(11.0")

YOKE

THIS SIDE
FORWARD

19.5" MODEL

Side View Front View

Mounting Plate



Hope Industrial Systems, Inc.
Toll Free: (877) 762-9790 · International: +1 (678) 762-9790
UK: +44 (0) 20 7193-2618 · E-mail: support@HopeIndustrial.com

© 2024

M
ec

ha
ni

ca
l D

ra
w

in
g 

– 
Yo

ke
 M

ou
nt

 w
ith

 B
en

ch
to

p 
M

ou
nt

in
g 

Ki
t

Revision:

Part Number: YB and YK series

Page 4 of 5

Date: 2022.08.26 NOTES: 1) 2" screw nuts and washers are provided as alternate for mounting.
2) Yoke will rotate +/- 320º from front center.

41.3 mm
(1.63")48.3 mm (1.90")

OUTSIDE DIAMETER

40.9 mm (1.61")
INSIDE DIAMETER

82.6 mm
(3.25")

571.5 mm
(22.5")

RUBBER WASHERS

3" DIAMETER
WASHER

YOKE LOCKING NUT

FRICTION PLATE

GROOVE INDICATING
FRONT CENTER

(See Note 2)

1/4-20 SCREWS
(See Note 1)

BENCH MOUNTING
PLATE (3/16" THICK)

KNOB

NYLON BUSHING

YOKE309.9 mm
(12.2")

YOKE

THIS SIDE
FORWARD

22" MODEL

Side View Front View

Mounting Plate



Hope Industrial Systems, Inc.
Toll Free: (877) 762-9790 · International: +1 (678) 762-9790
UK: +44 (0) 20 7193-2618 · E-mail: support@HopeIndustrial.com

© 2024

M
ec

ha
ni

ca
l D

ra
w

in
g 

– 
Yo

ke
 M

ou
nt

 w
ith

 B
en

ch
to

p 
M

ou
nt

in
g 

Ki
t

Revision:

Part Number: YB and YK series

Page 5 of 5

Date: 2022.08.26 NOTES: 1) 2" screw nuts and washers are provided as alternate for mounting.
2) Yoke will rotate +/- 320º from front center.

41.3 mm
(1.63")48.3 mm (1.90")

OUTSIDE DIAMETER

40.9 mm (1.61")
INSIDE DIAMETER

82.6 mm
(3.25")

629.9 mm
(24.8")

RUBBER WASHERS

3" DIAMETER
WASHER

YOKE LOCKING NUT

FRICTION PLATE

GROOVE INDICATING
FRONT CENTER

(See Note 2)

1/4-20 SCREWS
(See Note 1)

BENCH MOUNTING
PLATE (3/16" THICK)

KNOB

NYLON BUSHING

YOKE309.9 mm
(12.2")

YOKE

THIS SIDE
FORWARD

23.8" MODEL

Side View Front View

Mounting Plate


